
M
in

. 2
1-

1/
4”

Min. 30”

Min. 

11-1/
2”10

-7/
8”

Ø28-3/8”

A - Top Bracket

C - Left Side Frame

E - 1-1/4” Screw
(x4)

F - 1/4” Screw
(x4)

Inner Basket (x2) Outer Basket (x4)

D - Right Side Frame

B - Bottom Bracket

Scan QR or visit link to 
view installation video
https://delivr.com/26gvz

Installation InstructionsCS-ES360
Easy 360 Lazy Susan

INCLUDED: Assemble unit as shown, placing both top and bottom brackets into the left and right frames. 
Depending on cabinet opening, unit may have to be assembled inside of the cabinet. 

Before assembling the unit, ensure your cabinet meets the minimum size 
requirements shown above. 

NOTE: Unit attaches to underside of countertop. A support board (not provided)  
may need to be installed to properly secure the unit.

Raise top bracket so that upper swivel 
contacts support board and secure with  
4 wood screws (recommended #8 x 1”). 
Install and tighten 4 machine screws (F)  

to both sides as shown.
Install inner and outer  

baskets as shown. 

Place unit inside cabinet and position so it has proper clearances  
from cabinet walls and door opening. Secure bottom base using  

4 wood screws (recommended #8 x 1-1/2”) 

NOTE: Temporarily attach inner and outer baskets  
to ensure clearances before securing.

04/2025

Phillips 
Screwdriver Tape Measure 

TOOLS NEEDED: 

Screw Gun

NOTE: If screw gun has a clutch, set to lowest setting 
so as to not over tighten and/or strip screws.

IMPORTANT:

Before you begin, make sure you familiarize 
yourself with all the parts and fully read the 
instructions. 

CUSTOMER SERVICE:

Toll-free customer help line available 
weekdays 7:00 a.m. to 6:00 p.m. Central Time 
at 800-463-0660.

Adjustable damper

A 

C 
D 

B 
E 

E 

FF


